TEHA
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BARBRFTBRITHES TKERSRBHR

I
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RE 800 mm %
TKEBRE1—LE




TT-EHKET - T8I HBER HP FUE 800 mm
TYPE
I & MmoA B-1
HiEJ H = e
HP
800
ERER HP 800 6.73 6.73 6.7 m
EEER HP 800 5.98 5.98 6.0 m
ERER HP 800 5.83 5.83 5.8 m
m
m
m
— RiEHl
fEEIT (—xiEHED | 0.28 BH m
— RiEHl
0. 45 BH m
— RiEHl
0.80 BH m
(x2HY)
EElT 0.28 BH o
(x2HY)
0. 45 BH m’
(x2HY)
0.80 BH 37.5 37.5 38 m
BREERT 0.28 BH o
0.45 BH o
0.80 BH 7.6 7.6 8 m
BaER a5t




BaE#T

0.28 BH

3.

(BTI)

0.45 BH

3.

0.80 BH

3.

HRETIA

REX4+ (E) 0.28BH

REX4L (E) 0.45BH

REX4+ (E) 0.80BH

2.0

2.0

HEREIB

REL (BE)

0. 28BH

REL (BE)

0. 45BH

REL (BE)

0. 80BH

BAEERTIC

RCA0 (F4#)

0. 28BH

RCA0 (F4#D)

0. 45BH

RCA0 (F4#D)

0. 80BH

BignT

0.28BH 4tDT L=2. Okm

0.45BH 10tDT L=2. Okm

0. 80BH 10tDT L=2. Okm

35.3

35.3




EMmRT

T/KAHPE JSWAS A-1 4800 5.83 5.83 5.8m
5.8m +
3.0 K 2. 43m/ &
HEERRY-b 5.83 5.83 10m
B RRT-T 5.83 5.83 10m
TBT BABSLEE H=2.0m m
BIABSLEE H=2.5m m
BIABSLEE H=3.0m m
BABSZEE H=3.5m 6.73 6.73 6.7m
BABSLEE H=4.0m m
BEAEZLE H=4.5n m
BARS T H=5.0n m
EEHRIREA H=3. bm 3.50 3.50 3.5m [B=1.75x LT (2{EFR.
HKORET
BMRERET 28
KA REET 1 &
T
RIEY 3 m3
BREL 3 m3|




WEUIB T t=16mblT

TR A
*
FEREZRET t=10mEl T
mh IR
*
AT
B ] TZE

3.18 * 1.75 * 6.73

B OE &\ “iE HP
B-1 EE $ 800
EHEETE R mHhiEd R 0. 932
BASLIE H= 3.50 TR 318 m
£ Al F W= 1.75 BERES 6.73 m
{FAIEAIHETE  BH=_ 0.80 EEEE 5.98 m
IERETIC 0.000 BARCA0-0 EHEER 583 m
BEIB 1.848 H#4+
HETA 0.200 BEH4E+
HET 1. 132 #ARC40-0
i ; 1R LB
R I C (RC-40-0) 1 848
3.18
3.18
ERLABREREL) 0. 200
1.132
BaRERE
1.75

AT (BAERCA0-0)

) *

ERER
5.83

1.6

2.0

0.0

21.8

E m ENE
( 1.132 * 1.75 — 0.932 "2 3.14 /4
HETA(REL)

E M ERER

0.200 * 1.75 = 583
HRIBHRLEL)

E m TR

* *

R TC (#HARC40-0)

E M TR

1.848 *x 1.75 % 6.73
FHEAMET (R

il HBRE (FEL) BER(BEREL)

3.5 —( 00 + 20 ) /0.9

ETWET (As)
= rh ER




ERSSUVEYMAIRORTH tIwmEm B-1

i (BA {3 - mm) HEER TEd
EiE PR E5E BABZEE® H=  3.50
HP ®800 ®932 0w Al fE W= 1.75
fEREHITEE BH= 0.80
EWRIER| HAZREZERE M | MWAZRERE ) [ERER|IEFER HEAEIZE ()
BRES | WHNo. ~ WH No. m [EmEITaE Bt |LaE FaEl 3 (m) m | EE TE Fi
a b c d=a-b e=a-c f g=axTf
K49-1 K49-2+4.27:~: K49-1 6.73] 0.00: 0.75: 0.75( 0.00: 0.90: 0.90 5.98 5.83| 3.15 3.20: 3.18 21.40
=X 6.73 0.75 0.90 5.98 5.83 21.40
EHEEIE= Zg+-Za= 21.40 / 6.73 = 3.18 m




fl




AFfLRET

% B ]
I & Al

AfLERET 35T k- 1 &
AFLERE % 60 cm T-14 #8
60 cm T-25 1 #8
FEY Y D cm 1@
5 cm 1@
20 cm 1@
e 30 cm 1@
45 cm 1 {&
60 cm &
[R5 30 cm &
60 cm &
90 cm 1 {&

3EvT ER—I

277 300 cm M # 1&
300 cm b 1 &




AFLERET ‘*‘#Ei No. 2
E % B8 @ A
I i Al
3 5T vik—IL
gAEITOvY 90 cm 1@
B0 cm MR 1
50 cm y=§ig 1 {8
B0 cm 1@
FESE FES 25 m¥E T 1 {&
FES 45 mmE T 1@
JERR SME B0O mm M # 1&
CANES B0O MM i 1 {&
EHT 1 &Fr
avyl)—+ arvyl)—+ 1.11 m/m WA THFR
ENT B 2.68 mi/m 0.3 m pites bl Nyl
7 RS T AFLiE 1.00 ~ 3.00 m [E513i)
AR 3.01~ 4.00m 1 &7
AFLE 4.01 5.00 m &P




AFLERET R No. 3
E % B ]
I i# Al
ERRa RC40-0 .8 0.8m3
HiEa 91)—bk B-8-25BB 4l 0.4m3

BEEILAIL

—_

0.1 m3




AFLERET BER No. 4
#H E B
I i& 12 Al

15< oik—IL
ZEZN HPFH ¢ 800 ZAR! (H#2) 13

HPFA ¢ 800 EimHE! 2 2 BT
AFLERT @ o

HPFH [0) 800 3 3 &P

REEE VU 600 3m 1.5x 2%
aESMEF ISR ¢ 50 &

HPE F [0} 800 1 1 1@
e (51 5%) A& ¢ 200 (PRP)  (E15)
BIEHRET @150 H= 0.65m BAT 0.6l ~1. OmskiEs

NE ¢ 200 (VU)

¢ 150 H= m [E5l31

a4t
EEBIEEE 1 1 &




3 = A 7l &£ = = 5 = No. 1
ki R R i \ 21 B & B Z : 7 EIMZ m R
A i m T %I REY 3= H 3= H HEeE| NALHE
= v If Y & JEE 15H 158 | A& AR o fid
& = 7 | [m =~
5 = (m) %= > 10(15]20]130|45]|60]30]|60(90]|120] 30|30 60| 90 |180[150]|180) 25 | 45 |T-14{T-25
H1 | H1+0. 10 H2 47 H3
K49-1 3.16 3.26] 0.01] 0.80 0.97 1 1 1 1 1 1
1.20 - 3.00mEAF
INETT [3.01 - 4.00mLTF 1
4.01 - 5.00mELF 1 1 1 1 1 1
Ayt
R EBLIEEE 1




1 5 A FL Al AL - ¥ T -W & S5 # ¥ F B H X No. 1

A i B B & # Hl FL B ok T AESHEF &

fL A (RAEE mm) (RHAEE mm) (RHEAEE mm)

& P SEIE | REIE BRER | BER

= 5 150 mm 150 mm mm 800 800 150 800 150 800 %
K49-1 1 2 3 1




K EH I




KEZI HBER 15 E% (VP) FEUE 2000 mm
TYPE
I i3 oAl h 1B ES | HhAh S 2 1 1map = % = FZEHE
BER | EmER | T 5
ERIERE ¢ 200 2 % 95. 00 47.00 142.00 142.0 m
EEER ¢ 200 2 % 95. 00 47.00 142.00 142.0 m
ERIERE ¢ 200 2 % 95. 00 47.00 142.00 142.0 m
(tZ8®EL ER)
EE T 0.28 BH 26. 2 21.3 47.5 47 m®
BERETIA 4+ (BE) 0.28BH 21.3 21.3 21 m
HETIB 4+ (BhE) 0.28BH 14.3 14.3 14m
HETC 7 (RC40-0) 0. 28BH 12.0 12.0 12m

BRIWnT

0.28BH 4tDT L=2.Okm




=L2)

Y3 k—X [0) 200 2 3 190. 00 94.00 284.00 284.00
R T
e ) —X 1.0 &
FrIRANE—T ) ) —2 2.0 &
REER T 4m/min 1)—X 204
TUR—ILIEBTI 15 h—IL
= RNE 60m T-14 1.0 1.0 &
S8 % 25mE T 1.0 1.0®@
EEJ%%IJ ‘/7 10 2.0 101@ 11@%*”%
# B 60 an 1.0 1.0 &
BE= M RTE
EE LA 10 an 2.0 0.025 m3 |1{E 405>
wE= M RTE
w4 B 60 n 1.0 0.121 m3




B £ E K

B-1 K&I GhoiBs) EiE #4533 k—R
HEETE R TEAs EE ¢ 200
TEEL H= EIE ENE 0.220 m
 Hl 08 W= 0.60 BEEH 2 %
= FRYEHI 2 BH= 0.28 EELE 0.50 m
BEICHER 021 BHERC0-0 R T = 9500 m B (BAED)
BREIB@WER  0.25 Feht SRR 95.00 m SEYH T t=15ml T
BRIA RERH) 0.50 REHR4LEL HFRER 95.00 m ER A
95.00 x 1 95.0
SRR T t=10mlL T
B (HEHED rh EE
(EED ’ (ER) 0.60 x 95.00 57.0
0. 04 . AT
. = m S
: BRIABREREL) 0.46 x 0.60 x 9500 26.2
i BEIABRERET)
0.50 1 0.50 E m BEIER TR
0.46 ! 0.50 ( 050 x 0.60 — 0.220 "2 x 3.14 /4 x 2 ) x 9500 21.3
; EL T (As)
i B Oy EE
! 0.04 x 0.60 x 9500 2.3
i BT MET (+)
! Rl BR(FEL) BR(BEHEL)
! 26.2 — ( + 21.3 ) /0.9 2.5
0. 60
BErR ER) BER (ER)
(Ea) : (EBE) fEElT
i 0. 04 B m S EE
! ( 050 x 060 — 0220 "2 x 314 /4 x 2 ) x 9500 21.3
; ERICHEERCA-0) |, BREIBFAEL)
: : E m EE
! 0.25 x 0.60 x 95.00 14.3
0.50 ! 0.50 2R TC (B ARC40-0)
0.50 i E rh EE
i HREIB(ZEL) 0.2 0.21 x 0.60 x 9500 12.0
! ' B+MET (15)
| R HERE(REL) BR(REREL)
i 21.3 — (143 + ) /0.9 5.4
REI
0. 60 m EE
0.60 x 95.00 57.0




KEZAI(GhER ERSIVCESEEIZFEORH LIME B-1
&5 (B {3 :mm) R iEAs
EiE ME4E ENE 351 TEEL H= —
Hovavk=2( ®200 ® 220 2 w® Al fE W= 0.60
EFRYEHI#FE BH= 0.28
ERIER| HAREZERE m | HAZRERE M |BRER|EAER EHIRE (m)
RiIRES MH No. MH No. (m [EFREETREE [ LRETREE (m) (m | ERALETRE: Ty
a b c d=a-b e=a—c f g=axf
K& P-2 P-3 60.00] 0.00: 0.00: 0.00f 0.000: 0.000: 0.00 60. 00 60.00[ 0.50: 0.50: 0.50 30. 00
K& P-3 P-4 35.001 0.00: 0.00: 0.00] 0.000: 0.000: 0.00 35.00 35.00f 0.50; 0.50: 0.50 17.50
a5t 95.00 0.00 0.00 95.00 95. 00 47.50
EWEEILE = 2g+2a= 47.50 / 95.00 = 0.50 m



1 5 AN A F B B H =% No. 1
Ji& A 5 5%
A 3 m T 1z HEYVT | & B B Bt BiATJOvH REESE| ALHE
fL v Y & JEE
& v& 7 A (=
=1 = (m) = v 1015120304560 30|60(90(120[150([180] 60 | 90 [120]150|180| 25 | 45 [T-14|T-25
H1 | H1+0.05 | H2 47H3
128-1 1.96 2.01] 0.12] 0.60 0.83] 2 1 1 1
1.20 - 3.00mA T 1
INETT [3.01 - 4.00mEA R
4.01 - 5.00mEL T 2 1 1 1

Ay o4t

EfhIE RS







4 X # B I % 2
I & L& AT ]HO® Al [B-1G8:)[B-238%E) [B-30kER) INET &t
BT
A& As t=15ecmLLF 95.0 95.0 95 m
SHEE AR T
A& As t=10cmLLF 57.0 57.0 57 m
x B I
R#E18 TEAs BATREAIF|  t=4m 57.0 57.0 57
EEXEREYNET
ELES XFE (V) 2.3 2.3 2 m3
d=2. 3tf/m3 E=q(|) 5.2 5.2 5 tf




SEEIRT FHEE
I & BEIRFER | MeIEFr| SHEFELR it g #H=E
I T
TiEAs IKEER As t=4cm 95.00 x 1 = 95.00f 95.0 m
As t=15cmLLF
SRR T
iEAs IKEER As t=4cm 95.00 x 0.60 = 57.00 57.0 M
As t=10cmLLTF
=*E T
R8I hiEAs IKEBER | BESHEASIIF 95.00 x 0.60 = 57.00 57.0 M

As t=4cm




EXEZYNET HEE

I & EERIER (BT R MR 5 " e
EEREVNET FHE
*15 miiEAs JKEEB | As t=dem 95.00 x 0.60 x 0.04 2.28 2.3 m3
3 tbE )| 2.3 [tf/m3
miiEAs KEER [ As t=4em 2.28 2.3 5.2 5.2 tf




TBry bU—VEEE




No,1

T oA a W B-1GB8) | B-20M) % & i R
F 14 R HI R
3.18 3.18 m |MMEFHIE
RKRIRAIE
3.20 320 m |&KI{E
TBERBER
6.70 6.70 6.70 m
BTAHEHLTE H=3.0m
AT BH0.28 m
H,<4.0m
BH0.80 6.70 6.70 6.70 m
H=6.0m
BH0.80 m
BOAaBEALE
Bl T 6.70 6.70 6.70 m
B ER
HREBEHS TEBHE L= 150 m 3.50 m
FRYIEE
95.40 9540 | TFHIRALERRER«2E
HAB%
13.0 13.00 =]
B ER
EEERREE TEHEE L= 150 m 3.50 35 m
ELAEH
0.4 0
A&
48.00 48.00 m?




B &
No,2
-1
T B S B-1(BE) | B-20%) 0 R &
BEMER
SRIRFRE 28 H=3.5n 1.75 1.75 1.75 m |48kg/nd
HRRIRE 3B 0.00 0.00 m |60keg/nf
WYImEE 6.1 6.1 6.1 m?
HAB% 13.0 13.0 13.0 B
BEBEEE 0.29 0.29 0.29 t
E*‘I’ 3.77 3.8 38 tH
35
0.2
IR+ E R E 881
L=1.0km 11.70 0.29 11.99 12.0 t




